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1. ROFEMEZHMLT 0 ZRDK. 72720,00<0<180° . (SHKA0R, A1 73108, BH1 75408, CHe2m3158)

(1) cosf = —% (2) sinf = % (3) tanf = %
(4) cosf = ? (5) sinf =1 (6) tanf = —1
(7)  sinf = ? (8) cosf=0 (9  tanf = —/3
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2. ROFMZWTT 0 ZRDK. 72720,00<0<180° . (SHK40F), A1 108, B 157408, CH27 158 )

(1) cosf= —% 2  sing = ? (3) tanf=+3
1) cos — _g (5)  sinf=0 (6) tanf=1
(7)  sinf= % (8) cosf=—1 9 tand — _%
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1. ROFEMEZHMLT 0 ZRDK. 72720,00<0<180° . (SHKA0R, A1 73108, BH1 75408, CHe2m3158)

*x ZAENSAHEZRDDZ  180°% Z 2 2 EHOMBEIIR VD, T ZDEHETIFEZA TV S.
@© HMF CEFEL, D =) 2#i<.
@ sHOEDMELDAENILRZ L7, BNMELOS P2EX 3.
sinf >0 = 0°<60<180° (R P ODyBEENE~z#o L)
{ sinf <0 = 180° <6 <360° (AP EyBEENE~ 2D T)
cosf >0 = 0°<6<90° XX 270° < 0 < 360° (S5 P DxEEMIE~yElDF)
{ cosf <0 = 90° < 6 < 270° (P D x FBENE~ y D)
Yo () NEEHOFTAA—YTELXIIT 5.

(1) cosf = _ L (2) sinf = 1 3) tand = 1
V2 V2 /3
0 = 135° 0 = 450, 135° 0 = 30°
1) cosh= V3 (5)  sinf=1 6) tanf——1
9
0 — 300 0 = 900 0 = 1350
(1) sing= V3 (8)  cosf=0 ©  tanf= /3
2
6 = 60°, 120° 6 = 90° 0 = 120°
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2. ROFMZWTT 0 ZRDK. 72720,00<0<180° . (SHK40F), A1 108, B 157408, CH27 158 )

(1) cosf= —% 2  sing = @ (3)  tanf =3

0 = 1200 0 — 600, 1200 9 = 600
@) cosh— V3 (5)  sin6=0 6 tanf—1

2

0 — 1500 0 == 00, 1800 0 = 450

(7)  sinf =+ (8) cosf=-1 9 tanf = — L
2 V3
6 = 30°, 150° 6 = 180° 0 = 150°
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